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@

1.4

HF2

HF1

EF (m) ERl(m) LR2(m) (HFl(m)) (HFZ(m))
1( 0.000 0.000 0.000 1.000 0.000
1+ ) 0.000 0.000 0.000 1.000 0.000
1+ ) 0.000 0.000 0.000 1.000 0.000
1( 0.000 0.000 0.000 1.000 0.000
1+ ) 0.000 0.000 0.000 1.000 0.000
1+ ) 0.000 0.000 0.000 1.000 0.000
2( 0.000 0.000 0.000 1.000 0.000
2+ ) 0.000 0.000 0.000 1.000 0.000
2+ ) 0.000 0.000 0.000 1.000 0.000
2( 0.000 0.000 0.000 1.000 0.000
2+ ) 0.000 0.000 0.000 1.000 0.000
2+ ) 0.000 0.000 0.000 1.000 0.000
1( ) 0.000 0.000 0.000 1.000 0.000
1( ) 0.000 0.000 0.000 1.000 0.000
2( ) 0.000 0.000 0.000 1.000 0.000
2( ) 0.000 0.000 0.000 1.000 0.000
1
] LR2
LF
LRi/
[ ]
LF :
LR1:
LR2:
HF1:
HF2:
0.000 (m)
B
A

FORUMS8




1.5

1.6
@
D

&)
D

:ock= 24 (N/mm?)
:ock= 24 (N/mm?)
:ock = 24 (N/mm?)
: SD345
¢ = 30.00
® « = 30.00
@ pea = 45.00
(kN/m*)
24.500
10.000
18.000 19.000
19.000 20.000
20.100 21.100
0.14
0.14
(kN)
Rd Rex RD=Rd+Rex RL RH
1( 3000.000 0.000 3000.000 0.000 0.000
1+ ) 3000.000 0.000 3000.000 0.000 0.000
1+ ) | 3000.000 0.000 3000.000 0.000 0.000
1( 3000.000 0.000 3000.000 0.000 0.000
1+ ) 3000.000 0.000 3000.000 0.000 0.000
1+ ) 3000.000 0.000 3000.000 0.000 0.000
2( 3000.000 0.000 3000.000 1000.000 0.000
2+ ) 3000.000 0.000 3000.000 1000.000 0.000
2+ ) 3000.000 0.000 3000.000 1000.000 0.000
2( 3000.000 0.000 3000.000 1000.000 0.000
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(kN)
Rd Rex RD=Rd+Rex RL RH
2+ ( 3000.000 0.000 3000.000 1000.000 0.000
2+ ( 3000.000 0.000 3000.000 1000.000 0.000
1( ) 3000.000 0.000 3000.000 1500.000
1( ) 3000.000 0.000 3000.000 1500.000
2( ) 3000.000 0.000 3000.000 1500.000
2( ) 3000.000 0.000 3000.000 1500.000
Rd
Rex :
RD
RL
RH
©))
iy 1
(KN/m?) (kN/m?)
Qd QI |a |b |c Qd ol
1( 10.00 0.00 0.00 0.00
1+ ( 10.00 0.00 0.00 0.00
1+ ( 10.00 0.00 0.00 0.00
1( 10.00 0.00 0.00 0.00
1+ ( 10.00 0.00 0.00 0.00
1+ ( 10.00 0.00 0.00 0.00
2( 10.00 10.00 o |o 0.00 0.00
2+ ( 10.00 10.00 o |o 0.00 0.00
2+ ( 10.00 10.00 o | o 0.00 0.00
2( 10.00 10.00 o |o 0.00 0.00
2+ ( 10.00 10.00 o |o 0.00 0.00
2+ ( 10.00 10.00 o | o 0.00 0.00
1( ) 10.00 0.00
1( ) 10.00 0.00
2( ) 10.00 0.00
2( ) 10.00 0.00
(T T HILE
] ] ]

@IERME RS

OPEEE»LES

ORBEE»HBT
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*

®

) (x 107)
1( 20.0
1+ 10 20.0
1+ -10 20.0
1( 20.0
1+ 10 20.0
1+ -10 20.0
2( 20.0
2+ 10 20.0
2+ -10 20.0
2( 20.0
2+ 10 20.0
2+ -10 20.0
1( ) 20.0
1( ) 20.0
2( ) 20.0
2( ) 20.0
1(
1+
1+
1(
1+
1+
2(
2+
2+
2(
2+
2+
1( )
1( )
2( )
2( )
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(©)

Hr (m) Hf (m) Hi  (m)

1( 0.000 0.000 0.000

1+ ) 0.000 0.000 0.000

1+ ) 0.000 0.000 0.000
1( 3.000 3.000 0.000 ,
1+ ) 3.000 3.000 0.000 s
1+ ) 3.000 3.000 0.000 ,

2( 0.000 0.000 0.000

2+ ) 0.000 0.000 0.000

2+ ) 0.000 0.000 0.000
2( 3.000 3.000 0.000 ,
2+ ) 3.000 3.000 0.000 s
2+ ) 3.000 3.000 0.000 ,

1( ) 0.000 0.000 0.000
1( ) 1.000 1.000 0.000 s

2( ) 0.000 0.000 0.000
2( ) 1.000 1.000 0.000 ,

1.7
)
10.000 10.000
0.000 0.000
0.000 (m)
20.000 (m)
(kKN/m?) (
(m)
0.000 9.000 0.308 0.308 0.308 0.308
0.000 0.000 0.000 0.000

FORUMS8




(m

0.000 9.000

0.425
0.000

0.425
0.000

0.425
0.000

0.425
0.000

€))
D

2)

@
D

( )
cos’(p—86)
KA =
] sin(e+6)sin(¢-a)
cos’fBcos(B+6)| 1+
cos(0+6)cos(f-a)
cos?(30. 000-0. 000)
s1n (30. 000+10. 000) s in (30. 000~ (0. 000) )
cos?0. 000 cos (0. 000+10. 000) { 1+
cos (0. 000+10. 000) cos (0. 000~ (0. 000) )
= 0.308
cos’(p—86)
KA =
sin{¢+0)sin(¢p—a)
cos’Bcos(H+d5){ 1+
cos(0+6)cos(f-a)
cos?(30. 000-0. 000)
sin(30. 000+10. 000) s in (30. 000~ (0. 000) )
cos?0. 000 cos (0. 000+10. 000) { 1+
cos (0. 000+10. 000) cos (0. 000~ (0. 000) )
= 0.308
( )
cos’™(p-04+86)
Key =

sin(o+0p)sin(op-—a—00)

COSQOCOSZQCOS(Q+60+6E)[ 1+X/

cos?(30. 000-7. 970-0. 000)

c0s7. 970 cos’0. 000 cos(0. 000+7.970 +0. 000 )
1

X

cos(B+B+0:)cos(B—-a)

Av/sin(SO.OOO+O.OOO)sin(30.OOO—(O.OOO)—7.97O)
1+

cos (0. 000+7. 970+0. 000) cos (0. 000~ (0. 000) )

1l
e
e
o
ol

FORUMS8




2)

1.8

1.9

1.9.1

€Y)

@

1.9.2

cos’(p—0—0)

Kp =
sin(o+0p)sin(op-—a—00)
cos O cos®Bcos(0+0+0p){ 1+
cos(B+0 +0gcos(f-a)
cos(30. 000-7. 970-0. 000)
c0s7.970 cos®0. 000 cos(0.000+7. 970 +0. 000 )
1
X
sin (30. 000+0. 000) sin (30. 000~ (0. 000)-7. 970)
1+
cos (0. 000+7. 970+0. 000) cos (0. 000~ (0. 000) )
= 0.425
( ) (kN/m)
( ) (kN.m/rad)
K (kN/m) 576196.658
(Pmin > 0 ) Pmin
1.000 (m)
o Es; (kN/m?)
(m) DE
1 4.000 14000.000 | 28000.000 1.000
2 2.000 14000.000 | 28000.000 1.000
3 6.000 22400.000 | 44800.000 1.000
4 7.000 5600.000 | 11200.000 1.000
5 8.500 5600.000 | 11200.000 1.000
( ) D 1200 (mm)
O 24 (N/mm?*)
Ec 2.500 x 10* (N/mm*)
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n 15.00
SD295
NO (mm) (cm?)
1 150 D35 24 229.584
1| 0.000-27.500 | 5 250 D35 | 12 114.792
1.9.3
B
400.000 (mm)
h 600.000 (mm)
h* 300.000 (mm)
Do 1400 (mm)
0 (mm)
SD345
Lo = 0 Ast/(T oa U)
(mm)
1 250 D25 24
1.9.4
x 10 (N/mm?) 2.500
1.10
1.10.1
@
L = 27.500 (m)
@
Y
Ra=—--(Ru-Ws) +Ws - W
n
Ru=qd A+U X (Li fi) ( )
Ru=qd A+U X (Li fi DE) ( )
Ra : (kN)
: 3.0( ) 2.0( )
y = 1.2
Ru : (kN)
qd : (kN/m?)
qd = 3000 (kN/m?)
A )

A= JZ—- 1.200° = 1.131 (o)

U : (m)

FORUMS8
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U=m 1.2000 = 3.770 (m)

Li : (m)
fi : (kN/m?)
DE :
Ws : kN)
Ws=A X (y1i Li)
y i: (KN/m*)
W (kN)
W=Ap (yp L-yw L ) =450.976 (kN)
Ap : = 1.131 (m?)
yp: = 24.500 (kN/m®)
Yy W = 10.000 (kN/m®)
L = 27.500 (m)
L’ = 27.500 (m)
1)
yi Ws fi Li fi
No N Liqm) | (kN/m) (kN) c (kN/m?) (kN)
1 5.0 4.000 7.00 31.667 0.0 25.0 100.0
2 5.0 2.000 7.00 15.834 0.0 25.0 50.0
3 8.0 6.000 7.00 47.501 0.0 40.0 240.0
4 2.0 7.000 7.00 55.418 0.0 0.0 0.0
5 2.0 8.500 7.00 67.293 0.0 0.0 0.0
27.500 217.712 390.0
Ru=qd A+U X (Li fi)
= 3000.0 1.131 + 3.770 390.0 = 4863.186 (kN)
v
Ra=—+(Ru-Ws) +Ws - W
n
1.2
= ?;75 « (4863.186 —217.712) +217.712 -450. 976 =1624. 926 (kN)
2)
y i Ws fi DE Li fi DE
No N Liqm) | (kN/m’) (kN) c (kN/m?) (kN)
1 5.0 4.000 7.00 31.667 0.0 25.0 1.000 100.0
2 5.0 2.000 7.00 15.834 0.0 25.0 1.000 50.0
3 8.0 6.000 7.00 47.501 0.0 40.0 1.000 240.0
4 2.0 7.000 7.00 55.418 0.0 0.0 1.000 0.0
5 2.0 8.500 7.00 67.293 0.0 0.0 1.000 0.0
27.500 217.712 390.0
Ru=qgd A+U = (Li fi DE)

3000.0 1.131 + 3.770 390.0 = 4863.186 (kN)
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®

1.10.2

Ra= —+(Ru-Ws) +Ws W
n
1.2
= o * (4863.186 ~217.712) +217.712 ~450.976 =2554.021 (KN)

1
Pa = —-Pu+W

Pu=U = (Li Fi)

Pa : (kN)
n : 6.0( ) 3.0( )
Pu : (kN)
W (kN)
W=Ap (yp L-yw L )=451.0 (kN)
Ap : = 1.131 (m»)
Yyp: = 24.50 (kN/m®)
yw: = 10.00 (kN/m*)
L : = 27.500 (m)
= 27.500 (m)

D
HE A B PR D REIRS [ HR &
Pu=U-XLi-fi

= 3,770 -+ 390.0 = 1470.265 (kN)

ARGk E )
1
Pa=—+Pu+W
n
1
= 5ot 1470.265 +450.976 = 696.020 (kN)

HAE D> 5 F ARG [k & /)
Pu=U- 3Li-fi

= 3,770 -+ 390.0 = 1470.265 (kN)
TRBITRE 7

1
Pa = —-Pu+ W
n

1
—— + 1470. 265 +450.976 = 941,064 (kN)

3.0
(cm) (kN) (kN)
1( ) 1.00 1.5 1624.900 -696.000
1( ) 1.00 1.5 1624.900 -696.000
2( ) 1.00 1.5 1624.900 -696.000

FORUMS8
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1.10.3
€Y

D

2)

(cm) (kN) (kN)
2( .00 1.5 1624900 -696.000
1( ) .50 1.5 2554000 -941.100
1( ) .50 1.5 2554.000 | -941.100
2( ) .50 1.5 2554.000 -941.100
2( ) .50 1.5 2554000 -941.100
(N/mm?)
O O s T a T = O Cha O Sha
1( .00 8.000 180.000 0.230 | 1.700 6.500 200.000
1+ .15 9.200 207.000 0.260 | 1.960 7.480 230.000
1+ .15 9.200 207.000 0.260 | 1.960 7.480 230.000
1( .00 8.000 180.000 0.230 | 1.700 6.500 200.000
1+ .15 9.200 207.000 0.260 | 1.960 7.480 230.000
1+ .15 9.200 207.000 0.260 | 1.960 7.480 230.000
2( .00 8.000 180.000 0.230 | 1.700 6.500 200.000
2+ .15 9.200 207.000 0.260 | 1.960 7.480 230.000
2+ .15 9.200 207.000 0.260 | 1.960 7.480 230.000
2( .00 8.000 180.000 0.230 | 1.700 6.500 200.000
2+ .15 9.200 207.000 0.260 | 1.960 7.480 230.000
2+ .15 9.200 207.000 0.260 | 1.960 7.480 230.000
1( ) .50 12.000 300.000 0.350 | 2.550 9.750 300.000
1( ) .50 12.000 300.000 0.350 | 2.550 9.750 300.000
2( ) .50 12.000 300.000 0.350 | 2.550 9.750 300.000
2( ) .50 12.000 300.000 0.350 | 2.550 9.750 300.000
(N/mm?)
O O s Ta T =2
1( .00 8.000 180.000 0.230 | 1.700
1+ .15 9.200 207.000 0.260 | 1.960
1+ .15 9.200 207.000 0.260 | 1.960
1( .00 8.000 180.000 0.230 | 1.700
1+ .15 9.200 207.000 0.260 | 1.960
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3)

(N/mm?)
Ow O« Ta T
1+ .15 9.200 207.000 0.260 | 1.960
2( .00 8.000 180.000 0.230 | 1.700
2+ .15 9.200 207.000 0.260 | 1.960
2+ .15 9.200 207.000 0.260 | 1.960
2( .00 8.000 180.000 0.230 | 1.700
2+ .15 9.200 207.000 0.260 | 1.960
2+ .15 9.200 207.000 0.260 | 1.960
1( ) .50 12.000 300.000 0.350 | 2.550
1( ) .50 12.000 300.000 0.350 | 2.550
2( ) .50 12.000 300.000 0.350 | 2.550
2( ) .50 12.000 300.000 0.350 | 2.550
(N/mm?)
O c O s T a T =

1( .00 8.000 180.000 0.230 | 1.700
1+ .15 9.200 207.000 0.260 | 1.960
1+ .15 9.200 207.000 0.260 | 1.960
1( .00 8.000 180.000 0.230 | 1.700
1+ .15 9.200 207.000 0.260 | 1.960
1+ .15 9.200 207.000 0.260 | 1.960
2( .00 8.000 180.000 0.230 | 1.700
2+ .15 9.200 207.000 0.260 | 1.960
2+ .15 9.200 207.000 0.260 | 1.960
2( .00 8.000 180.000 0.230 | 1.700
2+ .15 9.200 207.000 0.260 | 1.960
2+ .15 9.200 207.000 0.260 | 1.960
1( ) .50 12.000 300.000 0.350 | 2.550
1( ) .50 12.000 300.000 0.350 | 2.550
2( ) .50 12.000 300.000 0.350 | 2.550
2( ) .50 12.000 300.000 0.350 | 2.550

T a:

Ta:
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@

D

2)

(N/mm?)
O O s Ta a2
1( ) .00 8.000 160.000 0.230 .700
1( ) .00 8.000 160.000 0.230 .700
2( ) .00 8.000 160.000 0.230 .700
2( ) .00 8.000 160.000 0.230 .700
1( ) .50 12.000 270.000 0.350 .550
1( ) .50 12.000 270.000 0.350 .550
2( ) .50 12.000 270.000 0.350 .550
2( ) .50 12.000 270.000 0.350 .550
Ta:
Ta:
(N/mm?)
O on Tw
1( ) .00 12.000 0.900
1( ) .00 12.000 0.900
2( ) .00 12.000 0.900
2( ) .00 12.000 0.900
1( ) .50 18.000 0.900
1( ) .50 18.000 0.900
2( ) .50 18.000 0.900
2( ) .50 18.000 0.900
(N/mm?)
0 o T
1( ) .00 12.000 0.900
1( ) .00 12.000 0.900
2( ) .00 12.000 0.900
2( ) .00 12.000 0.900
1( ) .50 18.000 0.900
1( ) .50 18.000 0.900
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(N/mm?)
O aa T he
2( ) .50 18.000 0.900
2( ) .50 18.000 0.900
(N/mm?)
O O s
1( ) .00 8.000 180.000
1( ) .00 8.000 180.000
2( ) .00 8.000 180.000
2( ) .00 8.000 180.000
1( ) .50 12.000 300.000
1( ) .50 12.000 300.000
2( ) .50 12.000 300.000
2( ) .50 12.000 300.000

FORUMS8
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2
2.1
(€H)
1)
7 1h 14
5 P13
E3
11
3
T 10
8
2)
(m o o
% % Vi) % Vi Vi Xi Vi Yi
1 1.500x 0.500x 20.000 15.000 2.250 1.250 33.750 18.750
2 1/2x 0.500x 0.500x 20.000 2.500 3.167 1.167 7.917 2.917
3 1.500x 5.500x 20.000 165.000 2.250 4.250 | 371.250 | 701.250
4 0.500x 0.400x 20.000 4.000 2.750 7.200 11.000 28.800
5 0.500x 1.000x 20.000 10.000 2.750 7.900 27.500 79.000
6 1/2x 1.000x 1.000x 20.000 10.000 3.333 8.067 33.333 80.667
7 1.500x 0.600x 20.000 18.000 3.250 8.700 58.500 | 156.600
8 9.100x 1.000x 20.000 182.000 4.550 0.500 | 828.100 91.000
9 1/2x 0.500x 0.500x 20.000 2.500 7.733 1.167 19.333 2.917
10 1.200x 0.500x 20.000 12.000 8.500 1.250 | 102.000 15.000
11 1.200x 6.400x 20.000 153.600 8.500 4.700 | 1305.600 | 721.920
12 1/2x 0.500x 0.500x 20.000 2.500 7.733 8.233 19.333 20.583
13 1.200x 0.500x 20.000 12.000 8.500 8.150 | 102.000 97.800
14 1.700x 0.600x 20.000 20.400 8.250 8.700 | 168.300 | 177.480
15 3.400x 0.600x 20.000 40.800 5.700 8.700 | 232.560 | 354.960
z 650.300 3320.477 | 2549.643
X6 =X (Vi Xi)/Z Vi = 3320.477/ 650.300 = 5.106 (m)
YG = X (Vi Yi)/Z Vi = 2549.643/ 650.300 = 3.921 (m)
2.2 , ,
@
W=y V = 24.500 x 650.300 = 15932.351 (kN)
X = 5.106 (m)
H=W kh = 15932.351 x 0.140 = 2230.529 (kN)
Y= 3.921 (m)
@ .
W =Wu + Wl (kN)

FORUMS8




- 18 -

[1]

2.3
@
[1]

D

Wu = Vu( ) v ( ) (kN
WI = VI( ) vy sat( ) (kN)
X=Wu Xu+ WL XD/W (m)
H=W" Kh (kN)
W=V oy ( ) (kN)
Y=( Yu+Vl YDD/(Vu + VD) (m)
2( ) 1( )
(m) (m)
v(m) X Y vi(m) X1 vi
( ) 0.000 0.000 0.000 0.000 0.000 0.000
(m)
vu(m) Xu Yu
( ) 0.000 0.000 0.000
Vu = V-Vl
Xu= (v X-VI XD)/Vu
Yu = (Vv Y-VI YD)/Vu
Wu = Vux y (kN) Wl = VIx y sat (kN)
( ) 0.000 x 20.100 = 0.000 0.000 x 21.100 = 0.000
W* =vxy (kN)
( ) 0.000 x 20.100 = 0.000
W H
Wu + Wl (kN) X(m) W* Kh (kN) Y(m)
( ) 0.000 + 0.000 = 0.000 0.000 0.000 x 0.14 = 0.000 0.000
2( )
Rv = 4000.000 (kN)
X = 2.000 (m)
Mx = Rv X = 4000.000 2.000 = 8000.000 (KkN.m)

FORUMS8
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[2] 1( )
Rv = 3000.000 (kN)
X = 2.000 (m)
Mx = Rv X = 3000.000 2.000 = 6000.000 (kN.m)
RH = 1500.000 (kN)
Y = 7.500 (m)
My = RH Y = 1500.000 7.500 = 11250.000 (kN.m)
2
N=q L B
X = Lst—
2.0
q :
qd : ( )
ql : ( )
B : , B =20.000 (m)
Ls :
L
11 2(C )
9, Ls L N X
(KN/17) ) (m) o ™
qd 10.000 2.500 6.600 1320.000 5.800
ql(a) 10.000 2.500 6.600 1320.000 5.800
ql(b) 10.000 3.000 6.100 1220.000 6.050
[2] 1( )
q Ls L N X
(kN/m) (m (m (kN) )
qd 10.000 2.500 6.600 1320.000 5.800
2.4
@
y w(kN/m%) 10.000
Bc  (m) 20.000
hr (m) 0.000
C (KN/m?) 0.000

FORUMS8
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X1

@
11  2( )
J =) 6. 169
1)
q (KN/m?) 20.000
HL  (m) 9.000
H2 () 0.000
Hs  (m) 0.000
2)
1
() HU(m) 9.000
() HL(m) 0.000
h1(m) 9.000
h2(m) 0.000
hs(m) 0.000
hr(m) 0.000
) 8 0.000
() > 10.000
« ) kN/m) vyt 19.000
« ) y sat 20.000
x ) @ Xp 9.100
() Kul 0.30847
() KI1 0.30847
() Ku2 0.30847
() KI2 0.30847
[1] () 6.169
21 () 58.917
[3] () 0.000
41 ) 0.000
Pel = (1/2) ([1]+[2]) h1 Bc 5857.765
Pe2 = (1/2) ([31+[4]) h2 Bc 0.000
Pe = Pel+Pe2 5857.765
Peh = Pe cos(d +6 ) ( ) 5768.772
Pev = Pe sin(® +6 ) ( ) 1017.190
YL = 2 [11+[2D) h1/{3 ([1]+[2])}+h2+HL+hr 3.284
Y2 = (2 [31+[4]) h2/{3 ([31+[41)}+HL+hr 0.000
= (Pel Y1+Pe2 Y2)/pPe 3.284
X = Xp - Y tan® 9.100

58.917
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Y (Pev * X)
= ——— = 9.100(m)
> Pev
Y (Peh + Y)
= ———— = 3.284(m)
> Peh
Pv = XPev = 1017. 190 (kN)

4. 254

ESpE

Ph = XPeh = 5768. 772 (kN)
[2] 1( )
1)
q (kN/m) | 10.000
H1 9.000
H2 0.000
Hs 0.000

76.992

FORUMS8
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2)
1
() HU(m) 9.000
() HL(m) 0.000
h1(m) 9.000
h2(m) 0.000
hs(m) 0.000
hr(m) 0.000
) 0 0.000
() 5 0.000
« ) KN/m) vyt 19.000
( ) y sat 20.000
x ) Xp 9.100
() Kul 0.42537
() K11 0.42537
() Ku2 0.42537
() K12 0.42537
[1] () 4.254
21 () 76.992
[3] () 0.000
[41 ) 0.000
Pel = (1/2) ([1]+[2]) hi Bc 7312.077
Pe2 = (172) ([3]+[4]) h2 Bc 0.000
Pe = Pel+Pe2 7312.077
Peh = Pe cos(d +0 ) ( ) 7312.077
Pev = Pe sin(d +0 ) ( ) 0.000
Y1 = (2 [+[2D hi/{3  ([1]+[2D)3}+h2+HL+hr 3.157
Y2 = (2 [3]+[4]) h2/{3 ([31+[41)}+HL+hr 0.000
Y = (Pel Y1+Pe2 Y2)/pe 3.157
X =Xp - Y tanb 9.100
Y (Pev *» X)
X = ——— = 0.000(m)
2 Pev
Y (Peh * Y)
Y= ——— = 3.157(m)
2 Peh
Pv = XPev = 0. 000 (kN)
Ph = XPeh = 7312. 077 (kN)
2.5
@
11 2( ) a
(kN.m)
Vi (kN) Hi (kN) X, (m) Yom [ MeEVe X | MEHoY
15932.350 0.000 5.106 0.000 81351.680 0.000
0.000 0.000 0.000 0.000 0.000 0.000
0.000 0.000 0.000 0.000 0.000 0.000

FORUMS8
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(KN..m)

Vi (kN) Hi (kN) X (m) Yo m [ MeEVe X M= HOY
0.000 0.000 0.000 0.000 0.000 0.000
0.000 0.000 0.000 0.000 0.000 0.000
4000.000 0.000 2.000 7.500 | 8000.000 0.000
D| 1320.000 0.000 5.800 9.000 |  7656.000 0.000
L | 1320.000 0.000 5.800 9.000 | 7656.000 0.000
1017.190 | 5768.772 9.100 3.284 | 9256.431 18946.727
23589.539 | 5768.772 113920.100 |  18946.727

2] 2( )b

(KN. )

Vi (kN) Hi (kN) X (M) Yo [ MeEVe X M= HOY
15932.350 0.000 5.106 0.000 | 81351.680 0.000
0.000 0.000 0.000 0.000 0.000 0.000
0.000 0.000 0.000 0.000 0.000 0.000
0.000 0.000 0.000 0.000 0.000 0.000
0.000 0.000 0.000 0.000 0.000 0.000
4000.000 0.000 2.000 7.500 | 8000.000 0.000
D| 1320.000 0.000 5.800 9.000 |  7656.000 0.000
L | 1220.000 0.000 6.050 9.000 | 7381.001 0.000
1017.190 | 5768.772 9.100 3.284 | 9256.431 18946.727
23489.539 | 5768.772 113645.109 |  18946.727

[3]1 1( )

(KN.m)

Vi (kN) Hi (kN) X (m) Yom [ MeEVe X | MEHoY
15932.350 | 2230.529 5.106 3.921 | 81351.680 | 8745.277
0.000 0.000 0.000 0.000 0.000 0.000
0.000 0.000 0.000 0.000 0.000 0.000
0.000 0.000 0.000 0.000 0.000 0.000
0.000 0.000 0.000 0.000 0.000 0.000
3000.000 | 1500.000 2.000 7.500 |  6000.000 11250.000
D| 1320.000 | 184.800 5.800 9.000 |  7656.000 1663.200
0.000 | 7312.077 0.000 3.157 0.000 23084.725
20252.350 | 11227.406 95007.680 | 44743.203

( ; v, H, M,
(kN (kN) (KN..m)
2( ) a 23589.530 | 5768.772 | -94973.383

FORUMS8
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( Vo Ho Mo
(kN) (kN) (kN.m)
2( )b 23489.539 | 5768.772 -94698.383
1( ) 20252.350 | 11227.406 | -50264.477
©)
T Ve = Vo (kN)
: Hs = Ho (kN)
D Mg = Vo Bi/2.0+M, (kN.m)
: B; = 9.100 (m
( ) Vs Hs M:
(kN) (kN) (kN.m)
2( ) a 23589.539 | 5768.772 12359.024
2( )b 23489.539 | 5768.772 12179.024
1( ) 20252.350 | 11227.406 41883.719
2.6
2.6.1
27.500 (m)
0.000 (m)
(0} 1200 (mm)

2.5 x 10"  (N/mm?)

FORUMS8
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2.6.2

9100
oop 7 100 1‘00 i
O O O O]=¢
O 00O
O 00O &
0000z
O00O0
O O O O]+t
Xi Ni 0
(m) ) () )
3.550 6 0.0 0
1.183 6 0.0 0
-1.183 6 0.0 0
-3.550 6 0.0 0

mm)]

6

Zi Ni
(m )

1] 9.000 4
2| 5.400 4
1.800 4

4| -1.800 4
5| -5.400 4
6| -9.000 4

FORUMS8
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2.6.3
Bh -3/4
Kh = KhO(———J
.3
1
Kh0 = —— « « « Eo
0.3
Kh : (kN/)
Kho: 0.3m
KN/
a -
Eo : (kN/m?)
Bh : (m) Bh Kh
1/B
D
Bh = .[— = 2.567 (m)
B
1/ = 5.491432 (m)
B =4 Kh-D 4 182102 ()
= — = . m
4-E-1
1/ Kh = 9327.62891 (KN/m°)
1/B (m
B : (m™)
D : (m) D = 1.200
E (kN/m?) E = 25000000.0
I ) I = 0.10178762
(m) a Eoz DE a EoZ
(kN/m) (/e KN/ (kN/m) (/e (KN/ir)
1|  4.000 | 14000.000 9.328 | 9327.629 | 1.000 | 28000.000 18.655 | 18655.258
2| 2.000| 14000.000 9.328 | 9327.629 | 1.000 | 28000.000 18.655 | 18655.258
3| 6.000| 22400.000 14.924 | 14924.206 | 1.000 | 44800.000 29.848 | 29848.413
4| 7.000| 5600.000 3.731 | 3731.052 | 1.000 | 11200.000 7.462 | 7462.103
5| 8.500| 5600.000 3.731 | 3731.052 | 1.000| 11200.000 7.462 | 7462.103

FORUMS8
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2.6.4

€Y)

@

Ap * E
Ky = a- UER 5761966. 580 (N/cm) = 576196. 668 (kN/m)
Ky :
a : (L/D)
a =0.031 (L/D)-0.150 = 0.560
Ap : Ap = 1.131 (m?)
Ep : Ep =  25000.000 (N/mm?)
: L = 27.500 ()
D = 1.200  (m)
K1 (kN/m) 63134.625 104627.734
K2 (kN/rad) 177264.047 244964 .891
K3 (kN_m/m) 177264.047 244964 .891
K4  (kN.m/rad)| 967364.750 | 1134242.750
K1, K3:
(kN/m)
(kN.m/m)
K2, K4:

(kN.m/rad)

(kN/rad)

FORUMS8
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2.6.5

€Y)

AXX
Ayx
Aax

AXX

Axy =
Axa =

Ayy

Aya =

Aaa

He
VB
My
o X:
oy:

Xi
0 1i:

R

0 xtAxy O y+Axa a
0 x+tAyy O y+tAya a
0 xtAay o y+tAaa a

Ayx
Aax

Aay

Afl

> (K1 cos?0 i+K,

> (Kv-K1) sinB i cosO i
2 {(K-K1) Xi sinB i cosO i-K2 cosO i}
> (Kv cos’® i+K1 sin’@ i)
> {(K, cos® i+K1 sin® i) X+K2 sin0@ i}
T {(Kv cos’® i+K1l sin’® i) X +(K2+K3) X;
(kN)
(kN)
(kN.m)
(m)
(m)
(rad)
X (m
()
Axx Axy Axa 1. 51523E+006
Ayx Ayy Aya = 0. 00000E+000
Aax Aay Aaa —4. 25434E+006
7. 32900E-007
= -3. 09664E-015
2. b9765E-008
Axx Axy Axa 2. 51107E+006
Ayx Ayy Aya = 0. 00000E+000
Aax Aay Aaa =5, 87916E+006

He
Ve
Mg

sin’d i)

4. 47948E-007
—2. 53106E-015
2. 12321E-008

sin® i+K4}

0. 00000E+000
1. 38287E+007
1. 64851E+000

—3. 09664E-015
7. 23133E-008
—-1. 10291E-015

0. 00000E+000
1. 38287E+007
1. 64851E+000

—2.53106E-015
7. 23133E-008
—-1. 08105E-015

-4, 25434E+006
1. 64851E+000
1. 20032E+008

2. b9765E-008
-1. 10291E-015
9. 25184E-009

—b. 87916E+006
1. 64851E+000
1. 24037E+008

2. 12321E-008
—-1. 08105E-015
9. 06850E-009

FORUMS8




- 29 -

@

®

[1]

[2]

[3]

2.6.6
[1]

2(

2(

1(

( ) S « o,y a
(cm) (cm) (rad)
2( ) a 0.455 0.171 0.00026420
2( ) b 0.454 0.170 0.00026253
1( ) 0.592 0.146 0.00061820
) a
PNi PHi Mt
(kN) (kN) (KN.m)
1 1523.311 | 240.366 | -550.796
2 1162.984 | 240.366 | -550.796
3 802.810 | 240.366 | -550.796
4 442.484 | 240.366 | -550.796
)b
PNi PHi Mt
(kN) (kN) (KN.m)
1 1515.738 | 240.366 | -551.578
2 1157.683 | 240.366 | -551.578
3 799.779 | 240.366 | -551.578
4 441.724 | 240.366 | -551.578
)
PNi PHi Mti
(kN) (kN) (KN .m)
1 2108.383 | 467.809 | -748.649
2 1265.241 | 467.809 | -748.649
3 422.455 | 467.809 | -748.649
4 -420.687 | 467.809 | -748.649
) a
Mmax 550.796 (kN.m) 0.000 (m)
Mmax 425.304  (KkN.m) 4.326 (m)
Mmax 550.796 (kN.m)
1/2Mmax: 275.398 (kN.m) 8.454 (m)
Smax 240.366 (kN)

FORUMS8
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m (kN§H3 5 M S M S
cmy | Nmy |k | s (em) | gnvem) | (kN
0.000 | 9328 | -0.45 |-550.796 | 240.366 | -0.78 0.000 | 240.366
1.000 | 9328 | -0.42 |-335.304 | 191.288 | -0.64 | 199.151 | 160.503
2.000 | 9328 | -0.37 |-166.604 | 147.029 | -0.51 | 326.379 | 96.378
3.000 | 9328 | -0.31 | -39.265| 108.691 | -0.39 | 396.711 | 46.564
4.000 | 9328 | -0.26 | 52.908 | 76.728| -0.28 | 423.781 |  9.563
5.000 | 9328 | -0.20 | 116.309 | 51.100| -0.19 | 419.507 | -16.431
6.000 | 9328 | -0.15 | 157.119 | 31.462 | -0.11 | 393.969 | -33.272
7.000 | 14924 | -0.11 | 176.492 | 8.622 | -0.06 | 352.246 | -48.437
8.000 | 14924 | -0.07 | 176.836 | -6.799 | -0.01 | 300.144 | -54.445
9.000 | 14924 | -0.04 | 164.951 | -16.044 |  0.02 | 245.638 | -53.593
10.000 | 14924 | -0.01 | 146.404 | -20.316 | 0.04 | 194.509 | -47.802
11.000 | 14924 0.01 | 125.611 | -20.709 | 0.06 | 151.161 | -38.620
12.000 | 14924 0.02 | 105.958 | -18.182 | 0.07 | 118.081 | -27.264
13.000 | 3731 0.03 | 88.319| -17.023| 0.07 | 92.373 | -24.118
14.000 | 3731 0.04 | 72.030| -15.509 | 0.07 | 69.885 | -20.851
15.000 | 3731 0.04 | 57.372| -13.781| 0.07 | 50.663 | -17.605
16.000 | 3731 0.04 | 44.501| -11.952| 0.07 | 34.632 | -14.486
17.000 | 3731 0.04 | 33.471| -10.112| 0.06 | 21.623| -11.570
18.000 | 3731 0.04 | 24.258| -8.320| 0.06 | 11.408 | -8.905
19.000 | 3731 0.04 | 16.777 | -6.655| 0.05 3.719 | -6.522
20.000 | 3731 0.03 | 10.900 | -5.125| 0.04 | -1.733 | -4.432
21.000 | 3731 0.03 6.471 | -3.764| 0.04 | -5.244| -2.638
22.000 | 3731 0.02 3.312| -2.587| 0.03 | -7.106| ~-1.135
23.000 | 3731 0.02 1.234 | -1.602| 0.02 | -7.606|  0.090
24.000 | 3731 0.02 0.042| -0.814| 0.02 | -7.015| 1.049
25.000 | 3731 0.01 | -0.461| -0.224| 0.0 | -5.592 |  1.755
26.000 | 3731 0.00 | -0.473| 0.168| 0.0 | -3.586 |  2.218
27.000 | 3731 0.00 | -0.190 | 0.364| 0.00 | -1.234 | 2.448
27.500 | 3731 0.00 0.000 | 0.389| 0.00 0.000 | 2.477
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[2]

2( )b
( ) Mmax 551.578 (kN.m) 0.000 (m)
( ) Mmax 425.304 (kN.m) 4.326 (m)
Mmax 551.578 (kN.m)
1/2Mmax: 275.789 (kN.m) 8.447 (m)
Smax 240.366 (kN)
m (kN523 5 M S M S
(cm) | (kN.m) (kN) 5 (cm) | (kN.m) (kN)
0.000 9328 -0.45 | -551.578 | 240.366 -0.78 0.000 | 240.366
1.000 9328 -0.42 | -336.063 | 191.332 -0.64 199.151 | 160.593
2.000 9328 -0.37 | -167.304 | 147.101 -0.51 326.379 96.378
3.000 9328 -0.31 -39.884 | 108.779 -0.39 396.711 46.564
4.000 9328 -0.26 52.382 76.823 -0.28 423.781 9.563
5.000 9328 -0.20 115.879 51.205 -0.19 419.507 | -16.431
6.000 9328 -0.15 156.783 31.554 -0.11 393.969 | -33.272
7.000 14924 -0.11 176.242 8.703 -0.06 352.246 | -48.437
8.000 14924 -0.07 176.661 -6.732 -0.01 300.144 | -54.445
9.000 14924 -0.04 164.837 | -15.991 0.02 245.638 | -53.593
10.000 14924 -0.01 146.336 | -20.277 0.04 194.599 | -47.802
11.000 14924 0.01 125.575 | -20.684 0.06 151.161 | -38.620
12.000 14924 0.02 105.941 | -18.169 0.07 118.081 | -27.264
13.000 3731 0.03 88.314 | -17.013 0.07 92.373 | -24.118
14000 3731 0.04 72.033 | -15.502 0.07 69.885 | -20.851
15.000 3731 0.04 57.381 | -13.776 0.07 50.663 | -17.605
16.000 3731 0.04 44 515 | -11.948 0.07 34.632 | -14.486
17.000 3731 0.04 33.488 | -10.110 0.06 21.623 | -11.570
18.000 3731 0.04 24.276 -8.328 0.06 11.408 -8.905
19.000 3731 0.04 16.796 -6.655 0.05 3.719 -6.522
20.000 3731 0.03 10.918 -5.126 0.04 -1.733 -4.432
21.000 3731 0.03 6.488 -3.765 0.04 -5.244 -2.638
22.000 3731 0.02 3.326 -2.589 0.03 -7.106 -1.135
23.000 3731 0.02 1.246 -1.605 0.02 -7.606 0.090
24.000 3731 0.02 0.052 -0.817 0.02 -7.015 1.049
25.000 3731 0.01 -0.454 -0.227 0.01 -5.592 1.755
26.000 3731 0.01 -0.468 0.165 0.01 -3.586 2.218
27.000 3731 0.00 -0.189 0.361 0.00 -1.234 2.448
27.500 3731 0.00 0.000 0.386 0.00 0.000 2477
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[31 1( )
1
( ) Mmax 748.649 (kN.m) 0.000 (m)
( ) Mmax 696.174 (kN.m) 3.621 (m)
Mmax 748.649 (kN.m)
1/2Mmax: 374.325 (kN.m) 7.865 (m)
Smax 467.809 (kN)
m (kNﬁz) 5 M S M S
(cm) | (kN.m) (kN) 5 (cm) | (kN.m) (kN)
0.000 18655 -0.59 | -748.649 | 467.809 -0.90 0.000 | 467.809
1.000 18655 -0.52 | -344.540 | 343.169 -0.71 373.827 | 287.040
2.000 18655 -0.43 -56.176 | 236.834 -0.53 588.021 | 148.012
3.000 18655 -0.34 135.840 | 150.565 -0.38 682.368 46.494
4.000 18655 -0.26 251.542 84.014 -0.25 691.655 | -23.101
5.000 18655 -0.18 309.880 35.474 -0.15 644.791 | -66.817
6.000 18655 -0.12 327.675 2.479 -0.07 564.682 | -90.532
7.000 29848 -0.07 312.441 | -29.931 -0.01 465.288 | -104.987
8.000 29848 -0.03 273.101 | -46.463 0.02 360.106 | -103.201
9.000 29848 0.00 223.427 | -51.238 0.04 262.348 | -90.982
10.000 29848 0.02 173.371 | -47.752 0.06 180.144 | -72.713
11.000 29848 0.03 129.740 | -38.795 0.06 117.891 | -51.505
12.000 29848 0.04 96.887 | -26.501 0.06 77.405 | -29.458
13.000 7462 0.04 72.118 | -22.992 0.06 50.659 | -24.079
14000 7462 0.04 50.949 | -19.344 0.05 29.127 | -19.059
15.000 7462 0.04 33.403 | -15.775 0.05 12.374 | -14.538
16.000 7462 0.04 19.322 | -12.433 0.04 -0.141 | -10.590
17.000 7462 0.03 8.429 -9.411 0.03 -9.004 -7.235
18.000 7462 0.03 0.377 -6.756 0.03 -14.804 -4._458
19.000 7462 0.02 -5.212 -4.486 0.02 -18.100 -2.217
20.000 7462 0.02 -8.720 -2.591 0.02 -19.398 -0.454
21.000 7462 0.02 -10.511 -1.047 0.01 -19.145 0.897
22.000 7462 0.01 -10.919 0.180 0.01 -17.718 1.905
23.000 7462 0.01 -10.243 1.128 0.01 -15.428 2.633
24.000 7462 0.01 -8.744 1.834 0.00 -12.526 3.140
25.000 7462 0.00 -6.645 2.331 0.00 -9.206 3.475
26.000 7462 0.00 -4.142 2.647 0.00 -5.621 3.676
27.000 7462 0.00 -1.406 2.799 0.00 -1.889 3.771
27.500 7462 0.00 0.000 2.818 0.00 0.000 3.782

FORUMS8




- 35 -

-749

M [kN-m]
374

0

0 —748. 65\u\uuu\uuuu\luuuu

€Y)

®

—b51. 24

Q)

—19. 40

—104. 99

696

696. 17

S [kN]
0 234 468
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2.6.7
@ (cm)
( )
1( ) 0.592 1.5
@ (kN)
( )
2( ) a 1523.311 1624.900
©) (kN)
( )
1( ) -494_621 -941.100
2.6.8
@
(N/mm?) (N/mm?)
M N
(kN.m) (kN)
2( )b 1 551.578 | 1515.738 3.531 8.000 20.918 160.000
4 551.578 | 441.724 3.386 8.000 50.274 160.000
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@
S
Tha T T al
b-d
T, (N/mm?)
Q)
d (mm) d = 906.868
(mm) b = 1063.472
T (N/mm?)
a=C Cpt CN T 4"
T 4" (N/mm?)
Ce Ce = 1.05
d(mm) | 300 1,000 3,000 5,000 10,000
Ce 1.4 1.0 0.7 0.6 0.5
Cpt Pt Cpt = 1.50
Pt(%) 0.1 0.2 0.3 0.5 |1.0
Cpt 0.7 0.9 1.0 1.2 1.5
CN
Mo
CNzI—FW 1 =22
M,
(N.mm)
N Ic
MO = — . —
A. y
M (N.mm) )
N Q)
Ic (mm*) lc = 101787620987.5
Ac (mm?)
y (mm) y = 600.0
(N/mm*)
) S N M
(kN) . I (kN) (kN.m) CN
1( ) 4 467.809 0.485 0.553 2.550 | -420.687 | 748.649 1.000
2.6.9
@
1
. B
¢ = 1200.0 (mm)
o ck = 24.00 (N/mm?)
SD345
2)

FORUMS8
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( ) PNmax | PNmin | PHmax | PH Mmax
(kN) (kN) (kN) (kN) (kN.m)
2( )a 1523.311 | 442.484 240.366 | 240.366 550.796
1( ) 2108.383 | -420.687 | 467.809 | 467.809 748.649
1( ) 2030.650 | -494.621 | 466.213 | 466.213 745.435
@
1)
PNmax
ocyv = —— = gcva
(n/4) - D
PNmax : N)
D : = 1200.0 (mm)
( ) PNmax g cv g cva
(kN) (N/mn) (N/mm*)
2( )a 1523.311 1.347 12.000
PN
v = L = zrva(ra)
7 + (D+h) * h
h = 600.000 (mm)
( ) PNmax TV T va
(kN) (N/mm?) (N/mm?)
1( ) 2108.383 0.621 0.900
2)
PHmax
och = = o cha
D-L
PHmax: )
L : = 400.000 (mm)
( ) PHmax o ch o cha
(kN) (N/mm?) (N/mm?)
1( ) 467.809 0.975 18.000
PH
th = = tha(zra)
h> «(@2+«L+D+2+h")
PH N)
h’ = 300.000 (mm)

FORUMS8
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( ) PH Th T ha
(kN) (N/mm%) (N/mm?)
1( ) 467.809 0.600 0.900
®
R = 70.000 (cm) Ro = 0.000 (cm)
(cm)
1 25.0 | D25 - 24 (@ 118)
As = 121.61(cm’)
(N/mm?) (N/mm?)
( )
M (kN.m) | N (kN) X (cm) gc o ca gs o sa
1( ) Nmax | 745.435 | 2030.650 86.89 4.311 12.000 20.920 300.000
Nmin -494.621 33.70 6.211 12.000 224.770 300.000
©)
o sa -* Ast
Lo = — = 792 (mm)
TOa-*u
Lo (mm)
osa: = 200.000 (N/mm?)
Ast ( D25 )1 = 506.7 (mm?)
T 0a : = 1.600 (N/mm?)
u = 80 (mm)
d = 25 (mm)
L Lo + 10 d = 1042 (mm)
2.6.10
DB A

B A 1.0
— 3- k" -1 —
B =4 o (m"), B = 0.309010
Kp: (kN/m*)
2Ky
k, = 3 = 75981. 972

FORUMS8



- 40 -

i

Ko -1 (kN/m), K, = 576196.658
B : m), B = 9.100
L : m), L = 20.000
n : , n=4
m , m=6
n m: ( ), n m=24
E : (kN/m?), E = 2.50x 10’
h : (m, h = 1.000
A (m, A = 3.185
a (A7 + e
A= ,
A + e

a =1.3

e = 0.000 (m)

A "= max(l,b) = 2.450

I =1.500 (m)

b =2.450 (m)

®
B A
0.984 1.0

FORUMS8
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FORUMS8

OO0 O
A A AN

+ 15
+ 16
+ 15
+ 16
+ 15

©
—
+ ++ 4+ ++

USRS MRS SRS ER S S S S S S S S S SRS S S S S
TAAd A A A A A A A A A AAAA A

++ 4+ +++ A+ o+
VDOODDOOO A —dNNM M

AN AdAAdAdAA A A
/\@/w + 4+ 4+ ++++++++++ A+ A+
OO OOOOOONMNN;DNS
ANNA ++++ A+t
~ ~ Ll A A ANNNAAANNN® < O <
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~ ~
(N7 (SN
A AN A A
—r—
SO S| S | SN S | N [ e | AN e s ~oe
bl ~ ~ ~ ~
[ N N N NN
AN
— = NN
N~ N N N+
— - A ANNNNAN N
B} L
(%] —ANM< LD O~ VOO N ™M < N O M~ OO [7p] AANMTOOONOOOOOANMS OO
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- 42 -

3.2

€Y

(m (m (/m) (/m)
0.000 0.250 294.000 294.000
0.250 0.250 294.000 294.000
0.500 0.700 294.000 294.000
1.200 4.000 294.000 294.000
5.200 0.200 294.000 294.000
5.400 0.600 294.000 294.000
6.000 0.600 294.000 294.000
0.000 6.000 735.000 735.000
0.600 7.400 588.000 588.000
0.600 0.750 245.000 245.000
1.350 0.650 245.000 245.000
0.500 1.000 490.000 0.000
5.500 0.500 0.000 245.000
4.900 0.500 0.000 245.000
7.500 0.500 0.000 245.000

FORUMS8
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@

[2]

(m) (m) (kN/m) (kN/m)
4.000 2.000 0.000 400.000
6.000 2.000 0.000 | -400.000
N=qg L B
L
X = Ls+
2.0
q
qd )
ql )
B , B'=20.000 (m)
Ls
L

FORUMS8
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[1]

[2]

)
€))
q Ls L N X
(kN/m°) (m) (m) (kN) m
qd 10.000 2.500 6.600 1320.000 5.800
q1() — — — — —
(kN) (kN) (kN.m)
0.000 | 3000.000 0.000
©
(m (m) (kN/m) (kN/m)
D 0.000 0.000 100.000 0.000
D 0.500 6.100 | 200.000 200.000
« D
€))
q Ls L N X
(kN/m?) (m) (m (kN) m
qd 10.000 2.500 6.600 1320.000 5.800
al(a) 10.000 2.500 6.600 1320.000 5.800
ql(b) 10.000 3.000 6.100 1220.000 6.050

FORUMS8
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(kN) (kN) (kN.m)
0.000 |  4000.000 0.000
@
m ) (kN/m) (kN/m)
D 0.000 0.000 | 100.000 0.000
D 0.500 6.100 |  200.000 200.000
L 0.000 0.000 | 100.000 0.000
L 0.500 6.100 | 200.000 200.000
(b)
m m (kN/m) (kN/m)
D 0.000 0.000 | 100.000 0.000
D 0.500 6.100 | 200.000 200.000
L 0.500 6.100 | 200.000 200.000

FORUMS8




- 46 -

[3]
3
(kN) (kN) (kN.m)
0.000 3000.000 0.000
-1500.000 0.000 0.000
m (m) (kN/m) (kN/m)
0.000 0.000 100.000 0.000
0.500 6.100 200.000 200.000
m m (kN/m) (kN/m)
0.000 0.000 -14.000 0.000
0.000 0.000 -170.800 0.000
3.4
€Y
y W(kN/m*) 10.000
Bc (m) 20.000
hr — (m) 0.000
C (KN/m°) 0.000

FORUMS8
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)
[1]  ):
X1
49.971
1)
q (KN/m?) 10.000
HL  (m) 8.000
H2  (m) 0.000
Hs () 0.000
2)
1
() HU(m) 8.000
) HL(m) 0.000
h1(m) 8.000
h2(m) 0.000
hs(m) 0.000
hr(m) 0.000
) 8 0.000
() 5 10.000
¢ ) (kN/m*) y t 19.000
« ) y sat 20.000
x ) m Xp 9.100
() Kul 0.30847
() KI1 0.30847
() Ku2 0.30847
) K12 0.30847
[1] () 3.085
[2] () 49.971
3] () 0.000
[4] ) 0.000

FORUMS8
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i
@m (m (kN/m) (kN/m)
0.000 8.000 -60.756 -984.246
0.000 8.000 10.713 173.549
21 ):
J 3.085
X1
P
=\ 35280
X1
44,419
1)
q (kN/m?) 10.000
HL  (m) 6.000
H2 () 2.000
Hs () 2.000

FORUMS8
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2)
1
) HU(m) 8.000
) HL(m) 0.000
h1(m) 6.000
h2(m) 2.000
hs(m) 2.000
hr(m) 0.000
) 0 0.000
) e} 10.000
( ) (kN/m*)  y t 19.000
( ) y sat 20.000
X ) (m Xp 9.100
) Kul 0.30847
) KI1 0.30847
() Ku2 0.30847
) KI2 0.30847
[1] ) 3.085
[2] ) 38.250
[3] ) 38.250
[4] ) 44.419
il
m m (kN/m) (kN/m)

0.000 6.000 -60.756 -753.373

0.000 6.000 10.713 132.840

6.000 2.000 | -753.373 -874.885

6.000 2.000 132.840 154.266

FORUMS8
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[31 (
J 6. 169
X1
53. 056
1)
q (kN/m?) 20.000
HL  (m) 8.000
H2  (m) 0.000
Hs (m) 0.000
2)
1
(D) HU(m) 8.000
() HL(m) 0.000
h1(m) 8.000
h2(m) 0.000
hs(m) 0.000
hr(m) 0.000
() 8 0.000
() 5 10.000
( (kKN/m) vyt 19.000
( y sat 20.000
x ) @ Xp 9.100
() Kul 0.30847
() K11 0.30847
() Ku2 0.30847
() KI2 0.30847
[1] () 6.169
[2] () 53.056
[31 () 0.000
4] ) 0.000

FORUMS8
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!—\
m D) (kN/m) (kN/m)
0.000 8.000 -121.512 -1045.001
0.000 8.000 21.426 184.262
[4]
J 6. 169
X1
4. 334
X fH1
47.504
1
q (kKN/m*) 20.000
HL  (m) 6.000
H2  (m) 2.000
Hs () 2.000

FORUMS8
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2)
1
() HU(m) 8.000
() HL(m) 0.000
h1(m) 6.000
h2(m) 2.000
hs(m) 2.000
hr(m) 0.000
) 8 0.000
() 5 10.000
« ) kN/m') vyt 19.000
( ) y sat 20.000
x ) Xp 9.100
() Kul 0.30847
() KI1 0.30847
() Ku2 0.30847
D) K12 0.30847
[1] () 6.169
[2] () 41.334
3] () 41.334
[41 () 47.504
!—\
m m (kN/m) (kN/m)

0.000 6.000 | -121.512 -814.129

0.000 6.000 21.426 143.553

6.000 2.000 | -814.129 -935.641

6.000 2.000 143.553 164.979

FORUMS8
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3.5
@
y w(kN/m®) 10.000
Bc (m) 20.000
hr  (m) 0.000
C (kN/m?) 0.000
@
[1] <e>
J 4. 254
X 1
1
g (KN/m*) 10.000
HL  (m) 8.000
H2  (m) 0.000
Hs (m) 0.000

68.910

FORUMS8
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2)
1
() HU(m) 8.000
) HL(m) 0.000
h1(m) 8.000
h2(m) 0.000
hs(m) 0.000
hr(m) 0.000
) ] 0.000
() 5 0.000
« ) (kN/m*) 19.000
« ) at 20.000
) (m 9.100
(@) Kul 0.42537
() KI1 0.42537
() Ku2 0.42537
) K12 0.42537
() 4.254
() 68.910
(@) 0.000
) 0.000
E\
m) m) (KN/m) (KN/m)
0.000 8.000 | -85.074 | -1378.193

FORUMS8
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[2] : <>
J 2.127
X1
34. 4556
1)
q (kN/m?) 10.000
HL  (m) 8.000
H2 () 0.000
Hs  (m) 0.000
0.500
2)
1
() HU(m) 8.000
) HL(m) 0.000
h1(m) 8.000
h2(m) 0.000
hs(m) 0.000
hr(m) 0.000
) ] 0.000
) ) 0.000
¢ (kN/m*)  y t 19.000
«C ) y sat 20.000
x ) Xp 9.100
() Kul 0.42537
() KI1 0.42537
(@) Ku2 0.42537
() KI2 0.42537
[1] (@) 2.127
[2] () 34.455
[3] () 0.000
4] ) 0.000

FORUMS8
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3.6
[1]

[2]

[3]

(m

m

(kN/m)

(kN/m)

0.000

8.000

-42.537

-689.096

)

-20.000
-20.000
-20.000
-20.000

)

10.000
10.000
10.000
10.000

)

-10.000
-10.000
-10.000
-10.000

FORUMS8
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3.7

€Y

m ) (kN/m) (kN/m)
0.000 0.250 | -41.160 -41.160
0.250 0.250 | -41.160 -41.160
0.500 0.700 | -41.160 ~41.160
1.200 4.000 | -41.160 ~41.160
5.200 0.200 | -41.160 ~41.160
5.400 0.600 | -41.160 ~41.160
6.000 0.600 | -41.160 -41.160
0.000 6.000 | -102.900 102.900
0.600 7.400 | -82.320 -82.320
0.600 0.750 | -34.300 ~34.300
1.350 0.650 | -34.300 ~34.300
0.600 1.000 | -68.600 0.000
5.500 0.500 0.000 ~34.300
0.600 0.500 | -34.300 0.000
7.500 0.500 0.000 ~34.300

FORUMS8
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3.8
[1] 1( )
1
CHE!
= E
= 2
N .
: Lo
0 o)
ey i
d F I/
1538. 92 (Mmax) ,1
16012 DEGI MmN
\ 2 -732.92 (Mmin)
-2183. 91 (Mmin) 2 3 7117, 73 (Mmax)
2)
/;% ~~
& £
Xz =
s Z
[aN] Lo
< @
D Lo
= &
T e Y
631.48 574. 25 (Smax)
631. 48 (Smam)
3L L—i33548. 53 (Smin)
(€D)
1 2 3
m 0.000 6.000 6.000
0.000
Mmax Mmin
KkN.m 1604 .958 -2183.911 -2183.911
kN 5452 .996 9924 .245 9924 .245
kN -631.478 -631.478 -631.478
KkN.m 80.248 -109.196 -109.196
KN 272.650 496.212 496.212
kN -31.574 -31.574 -31.574

FORUMS8
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®
1 2
m 1.050 1.700
Mmax Mmin
kN.m 1538.921 1128.460
kN 2293.745 2452.995
kN -631.478 -631.478
kN.m 76.946 56.423
kN 114.687 122.650
kN -31.574 -31.574
®
1 2 3 4
m 1.050 4.600 0.950 3.525
1.050 4.600
Mmax Mmin
kN.m 518.895 -709.865 645.196 -995.148
kN 631.478 631.478 631.478 631.478
kN 1232.595 -530.905 1294245 0.000
kN.m 25.945 -35.493 32.260 -49.757
kN 31.574 31.574 31.574 31.574
kN 61.630 -26.545 64.712 0.000
*
1 2 3
m 7.700 2.523 7.700
0.000
Mmax Mmin
kN.m 7117.734 -732.920 7117.734
kN 6606.153 2875.110 6606.153
kN -3548.527 0.000 -3548.527
kN_m 355.887 -36.646 355.887
kN 330.308 143.756 330.308
kN -177.426 0.000 -177.426

FORUMS8
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[7] 2( )a
1
~ 5
b
< =
s =
o L
~f o~
o =
(2] —
—l |
T Y
1934. 96 (Mmax) ,1
19085 S0l MmN -4
\ 2 -641. 20 Mmin)
-3415. 86 (Mmin) 2 3 7594, 43 (Mmax)
2)
= 2
£ ps
£ &
o -
K >
o o
= =
o1
887. 41 37793, 73 (Smax)
887. 41 (Smam)
3L L—i33778. 64 (Smin)
(€D)
1 2 3
m 0.000 6.000 6.000
0.000
Mmax Mmin
KN.m 1908.602 -3415.864 -3415.864
KN 7100.922 11572172 11572.172
KN -887.411 -887.411 -887.411
KN.m 95.430 -170.793 -170.793
KN 355.046 578.609 578.609
kN -44.371 -44 371 -44 371

FORUMS8




- 61 -

®
1 2
m 1.050 1.700
Mmax Mmin
kN.m 1934.958 1358.141
kN 2941.672 3100.922
kN -887.411 -887.411
kN.m 96.748 67.907
kN 147.084 155.046
kN -44.371 -44.371
®
1 2 3 4
m 1.050 4.600 0.950 3.3711
1.050 4.600
Mmax Mmin
kN.m 672.339 -673.310 838.432 -1197.497
kN 887.411 887.411 887.411 887.411
kN 1620.522 -852.978 1702.172 0.000
kN.m 33.617 -33.666 41.922 -59.875
kN 44371 44 371 44371 44 371
kN 81.026 -42.649 85.109 0.000
*
1 2 3
m 7.700 2.707 7.700
0.000
Mmax Mmin
kN.m 7594.430 -641.195 7594.430
kN 7363.930 3700.688 7363.930
kN -3778.642 0.000 -3778.642
kN.m 379.722 -32.060 379.722
kN 368.196 185.034 368.196
kN -188.932 0.000 -188.932

FORUMS8
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[9] 2+ )b
1)
~ €]
b
g =
£ >
= L
LO [e's)
g 3
~ I
I e
2119. 25 (Mmax) .1
21966 1L003MMrc)n 3t-+2%
s 2 -600. 79 (Mmin)
~2032. 72 (Mmin) 24 3 8582. 46 (Mmax)
2)
2 e
> =
« ~
o X
: 5
T
704.97 LR 1. 28 (Smax)
704. 97 (Smaw)
3L L—i33961. 08 (Smin)
€))
1 2 3
m 0.000 6.000 6.000
0.000
Mmax Mmin
KkN.m 2197.095 -2032.716 -2032.716
kN 7072.142 11543.392 11543.392
kN -704.968 -704.968 ~704.968
KN.m 109.855 -101.636 -101.636
kN 353.607 577.170 577.170
kN -35.248 -35.248 -35.248

FORUMS8
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®
1 2
m 1.050 1.700
Mmax Mmin
kN.m 2119.254 1661.024
kN 2912.892 3072.142
kN -704.968 -704.968
kN.m 105.963 83.051
kN 145.645 153.607
kN -35.248 -35.248
®
1 2 3 4
m 1.050 4.600 0.950 3.474
1.050 4.600
Mmax Mmin
kN.m 590.289 -1008.190 763.504 -1448.497
kN 704.968 704.968 704.968 704.968
kN 1691.742 -781.758 1773.392 0.000
kN _m 29.514 -50.410 38.175 -72.425
kN 35.248 35.248 35.248 35.248
kN 84.587 -39.088 88.670 0.000
*
1 2 3
m 7.700 2.297 7.700
0.000
Mmax Mmin
kN.m 8582.455 -600.790 8582.455
kN 7292.710 3356.228 7292.710
kN -3961.084 0.000 -3961.084
kN.m 429.123 -30.039 429.123
kN 364.635 167.811 364.635
kN -198.054 0.000 -198.054

FORUMS8
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[10] 2( )b
1
~ 5
b
< =
I
o N
Lo =
1S =
<t —
—l |
T Y
1942, 38 (Mmax) ,1
1 86T DG MmN -4
\ 2 -654. 01 (Mmin)
-3205. 80 (Mmin) 2 $ 7763. 78 (Mmax)
2)
= 2
=] s
& &
S S
'8 S
= =
1
889. 73 *37796. 05 (Smax)
889. 73 (Smax)
489'73(Smin3\ L—i34066. 96 (Smin)
(€D)
1 2 3
m 0.000 6.000 6.000
0.000
Mmax Mmin
KN.m 1865.938 -3205.799 -3205.799
KN 7003.771 11475.021 11475.021
KN -889.734 -489.734 -489.734
KN.m 93.297 -160.290 -160.290
KN 350.189 573.751 573.751
kN -44 487 -24.487 -24.487

FORUMS8
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®
1 2
m 1.050 1.700
Mmax Mmin
kN.m 1942.379 1364.052
kN 2844 521 3003.771
kN -889.734 -889.734
kN.m 97.119 68.203
kN 142.226 150.189
kN -44.487 -44.487
®
1 2 3 4
m 1.050 4.600 0.950 3.375
1.050 4.600
Mmax Mmin
kN.m 679.207 -676.558 845.586 -1197.248
kN 889.734 889.734 889.734 889.734
kN 1623.371 -850.129 1705.021 0.000
kN.m 33.960 -33.828 42.279 -59.862
kN 44487 44487 44487 44 487
kN 81.169 -42.506 85.251 0.000
*
1 2 3
m 7.700 2.712 7.700
0.000
Mmax Mmin
kN.m 7763.779 -654.014 7763.779
kN 7341.797 3701.161 7341.797
kN -4066.958 0.000 -4066.958
kN_m 388.189 -32.701 388.189
kN 367.090 185.058 367.090
kN -203.348 0.000 -203.348

FORUMS8
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[13] 1( )
1
= =
< =
£ =
2 2
g ber}
3148. 47 (Mmax) 4¥ 2 —2173. 18 (Mmin)
zaaaagyﬂﬂwmhmﬂn>1<
-13617. 58 Mmin) 23— —— 3 14074. 74 (Mmax)
2)
=
[a}
= &
Te) w0
@ —
= 3
I |
877. 39 —\\F\\\\\\\\Tz-
901 83l r282.92(SmaX)
2401. 83 (Smin) 1
3027. 81 (Smax}— 36116. 33 (Smin)
(€D)
1 2 3
m 0.000 6.000 6.000
0.000
Mmax Mmin
KN.m 2647.041 -13617.580 -13617.580
KN 6154.672 10625.922 10625.922
KN -2401.832 -3027.807 -3027.807
KN.m 132.352 -680.879 -680.879
KN 307.734 531.296 531.296
KN -120.092 -151.390 -151.390

FORUMS8
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®
1 2
m 1.050 1.700
Mmax Mmin
kN.m 3148.471 2569.705
kN 2995.422 3154.672
kN -877.393 -901.832
kN.m 157.424 128.485
kN 149.771 157.734
kN -43.870 -45.092
®
1 2 3 4
m 1.050 4.600 0.950 4.912
1.050 4.600
Mmax Mmin
kN.m 1668.676 -2051.036 1865.145 -2078.804
kN 581.204 435.086 585.320 422.255
kN 1934.272 170.772 1995.922 0.000
kN.m 83.434 -102.552 93.257 -103.940
kN 29.060 21.754 29.266 21.113
kN 96.714 8.539 99.796 0.000
*
1 2 3
m 7.700 1.128 7.700
0.000
Mmax Mmin
kN.m 14074.743 -2173.177 14074.743
kN 5167.428 1241.883 5167.428
kN -6116.327 0.000 -6116.327
kN_m 703.737 -108.659 703.737
kN 258.371 62.094 258.371
kN -305.816 0.000 -305.816

FORUMS8
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[15] 2( )
1
~ E
5 =
(4]
= b
: 0]
© )
. [e0]
D —
[e 0] —
SN |
{ I /e
2012. 99 (Mmin) o2 2 111. 84 (Mmi
m%mmmn-\ - 84 (min)
-3597. 42 (Mmin) 2 3 5506. 24 (Mmax)
2)
/Z‘% ~
& £
wn =
et Z
o~ D
e «
[N [aN]
N 2
_253'70\\73\\\\\\»“fﬁi-35 69 (Smax)
-278. 22 :
1221. 78 (Smaxp
595. 81 (Sminp" 32224, 46 (Smin)
(€D)
1 2 3
m 0.000 6.000 6.000
0.000
Mmax Mmin
KN.m 1879.640 -3597.422 -3597.422
kN 5386.463 9857.713 9857.713
kN -1221.782 -595.807 -595.807
KN.m 93.982 -179.871 -179.871
kN 269.323 492.886 492.886
KN -61.089 -29.790 -29.790

FORUMS8
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®
1 2
m 1.700 1.050
Mmax Mmin
kN.m 2186.409 2012.992
kN 2386.463 2227.213
kN 278.218 253.779
kN.m 109.320 100.650
kN 119.323 111.361
kN 13.911 12.689
®
1 2 3 4
m 1.050 4.600 0.950 3.391
1.050 4.600
Mmax Mmin
kN.m 169.962 -822.608 289.610 -1183.874
kN -142.390 3.728 -146.506 -46.050
kN 1166.063 -597.437 1227.713 0.000
kN _m 8.498 -41.130 14.480 -59.194
kN -7.120 0.186 -7.325 -2.303
kN 58.303 -29.872 61.386 0.000
*
1 2 3
m 7.700 1.244 7.700
0.000
Mmax Mmin
kN.m 5506.240 111.835 5506.240
kN 5935.637 2078.476 5935.637
kN -2224 457 0.000 -2224.457
kN_m 275.312 5.592 275.312
kN 296.782 103.924 296.782
kN -111.223 0.000 -111.223

FORUMS8
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3.9
3.9.1

FORUMS8
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1 1: Mmax
m 0.000 0.000
2( )a 1( )
M kN.m 95.430 132.352
N kN 355.046 307.734
S kN -44 371 -120.092
B mm 1000.0 1000.0
H mm 1500.0 1500.0
d mm 1350.0 1350.0
D16x 4.00= 7.94 D16x 4.00= 7.94
A cm? 7.94 7.94
A" cm? 0.00 0.00
cm’? 7.94 7.94
Mx 1.7 kN_m 162.231 224998
Mc kN.m 806.390 794 .562
Amin cm? 5.00 5.00
o )
X mm 1440.932 987.172
0. N/mm? 0.492 0.629
O N/mm? 8.000 12.000
(] o
(o N/mm? -0.466 3.468
(o N/mm? 180.000 300.000
o o
T N/mm* —_— —_—
Ta N/mm? _— _—
) C. - -
Cuc . .
C . .

FORUMS8
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2) 2: Mmin
m 6.000
1( )
M kN.m -680.879
N kN 531.296
S kN -151.390
B mm 1000.0
H mm 1500.0
d mm 1350.0
A cm? 0.00
D19x 4.00=11.46
A" cm? 11.46
cm’? 11.46
Mx 1.7 kN_m 1157.494
Mc kN.m 850.453
Amin cm? 10.12
()
X mm 322.503
o . N/mm* 4.989
0 N/mm? 12.000
(]
o N/mm? 238.445
(o8 N/mm? 300.000
o
T N/mm* —_—
T a N/mm? —_—
) C. E—
Cuc .
C .

FORUMS8
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1
m 6.000
0.000 )
1( )

M kN.m -680.879

N kN 531.296

S kN -151.390

B mm 1000.0

H mm 1500.0

d mm 1350.0

A cm? 0.00

D19x 4.00=11.46

A" cm? 11.46

cm’? 11.46
Mx 1.7 kN_m 1157.494

Mc kN.m 850.453

Amin cm? 10.12
()

X mm 322.503
o . N/mm* 4.989
0 N/mm? 12.000

(]
o N/mm? 238.445
(o8 N/mm? 300.000
o

T N/mm* 0.112

T a N/mm? 0.265

C. 0.947

Cot 0.670

Cu 1.195

FORUMS8
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3.9.2

FORUMS8
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1 1: Mmax
m 1.050 1.050
1( ) 1( )
M kN.m 76.946 157.424
N kN 114.687 149.771
S kN -31.574 -43.870
B mm 1000.0 1000.0
H mm 500.0 500.0
d mm 350.0 350.0
D22x 4.00=15.48 D22x 4.00=15.48
A cm? 15.48 15.48
A" cm? 0.00 0.00
cm? 15.48 15.48
Mx 1.7 kN_m 130.808 267.620
Mc kN.m 89.294 92.217
Amin cm? 5.22 5.00
() ()
X mm 130.198 120.721
o . N/mm* 4.430 9.221
O N/mm? 8.000 12.000
(] o
(o N/mm? 112.173 262.693
(o N/mm? 180.000 300.000
o o
T N/mm* —_— —_—
T a N/mm? —_— —_—
) C. - -
Cuc . .
C . .

FORUMS8
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2) 2: Mmin
m 1.700 1.050
1( ) 2( )
M kN.m 128.485 100.650
N kN 157.734 111.361
S kN -45.092 12.689
B mm 1000.0 1000.0
H mm 500.0 500.0
d mm 350.0 350.0
D22x 4.00=15.48 D22x 4.00=15.48
A cm? 15.48 15.48
A" cm? 0.00 0.00
cm? 15.48 15.48
Mx 1.7 kN_m 218.425 171.104
Mc kN.m 92.881 89.017
Amin cm? 5.00 5.22
() ()
X mm 125.430 123.327
o . N/mm* 7.464 5.869
O N/mm? 12.000 12.000
(] o
o N/mm? 200.442 161.801
(o N/mm? 300.000 300.000
o o
T N/mm* —_— —_—
T a N/mm? —_— —_—
) C. - -
Cuc . .
C . .

FORUMS8
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3.9.3

FORUMS8
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1
m 1.050 1.050
( 1.050 ) 1.050 )
2( )b 1( )

M kN.m 33.960 83.434

N kN 0.000 0.000

S kN 81.169 96.714

B mm 1000.0 1000.0

H mm 600.0 600.0

d mm 450.0 450.0

D16x 4.00= 7.94 D16x 4.00= 7.94

A cm? 7.94 7.94

A" cm? 0.00 0.00

cm’? 7.94 7.94
Mx 1.7 kN_m 57.733 141.837

Mc kN.m 114.821 114.821

Amin cm? 5.00 7.51
o )

X mm 92.285 92.285
o . N/mm* 1.754 4.309
O N/mm? 8.000 12.000

(] o
(o N/mm? 101.985 250.556
(o N/mm? 180.000 300.000
o o

T N/mm* 0.180 0.215

Ta N/mm? 0.258 0.392

C. 1.314 1.314

Cot 0.853 0.853

Cu 1.000 1.000

FORUMS8
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2)
m 4.600 4.600
( 4.600 ) 4.600 )

2( )a 1( )

M kN.m -33.666 -102.552

N kN 0.000 0.000

S kN -42.649 8.539

B mm 1000.0 1000.0

H mm 600.0 600.0

d mm 450.0 450.0

As cm’ 0.00 0.00

D19x 4.00=11.46 D19x 4.00=11.46

A" cm? 11.46 11.46

cm? 11.46 11.46

Mx 1.7 kN_m 57.231 174.338

Mc kN.m 114.821 114.821

Amin cm? 5.00 7.51
) o

X mm 108.399 108.399

o N/mm? 1.501 4.574

O N/mm? 8.000 12.000
(] o

o N/mm? 70.974 216.202

(o N/mm? 180.000 300.000
o o

T N/mm? 0.095 0.019

Ta N/mm? 0.289 0.439

C. 1.314 1.314

Cot 0.955 0.955

Cu 1.000 1.000

FORUMS8
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3) 3: Mmax
m 0.950
1( )
M kN.m 93.257
N kN 0.000
S kN 99.796
B mm 1000.0
H mm 600.0
d mm 450.0
D16x 4.00= 7.94
A cm? 7.94
A" cm’? 0.00
cm’? 7.94
Mx 1.7 kN_m 158.537
Mc kN.m 114.821
Amin cm? 7.51
()
X mm 92.285
o . N/mm* 4.817
0 N/mm? 12.000
(]
o N/mm? 280.057
(o8 N/mm? 300.000
o
T N/mm* —_—
T a N/mm? —_—
) C. -
Cuc .
C .

FORUMS8
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4) 4: Mmin
m 3.474 4.912
2+ ( )b 1( )
M kN.m -72.425 -103.940
N kN 0.000 0.000
S kN 0.000 0.000
B mm 1000.0 1000.0
H mm 600.0 600.0
d mm 450.0 450.0
As cm’ 0.00 0.00
D19x 4.00=11.46 D19x 4.00=11.46
A" cm? 11.46 11.46
cm? 11.46 11.46
Mx 1.7 kN_m 123.122 176.698
Mc kN.m 114.821 114.821
Amin cm? 7.51 7.51
() ()
X mm 108.399 108.399
0. N/mm? 3.230 4.636
O N/mm? 9.200 12.000
(] o
o N/mm? 152.687 219.129
(o N/mm? 207.000 300.000
o o
T N/mm* —_— —_—
Ta N/mm? _— _—
) C. - -
Cuc . .
C . .

FORUMS8
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3.9.4

FORUMS8
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@ ,
1 1: Mmax
m 7.700
1( )
M kN_m 703.737
N kN 258.371
S kN -305.816
B mm 1000.0
H mm 1200.0
d mm 1050.0
A cm’? 0.00
D25x 4.00=20.27
A" cm’ 20.27
cm’? 20.27
Mx 1.7 kN.m 1196.353
Mc kN.m 510.957
Amin cm’? 10.07
o
X mm 262.204
o N/mm? 6.498
(o8 N/mm? 12.000
()
o- N/mm? 292.832
0 « N/mm? 300.000
()
T N/mm? —_—
T a N/mm? —_—
) C. E—
Cue .
C. .

FORUMS8
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2) 2: Mmin
m 1.128
1( )
M kN.m -108.659
N kN 62.094
S kN 0.000
B mm 1000.0
H mm 1200.0
d mm 1050.0
D16x 4.00= 7.94
A cm? 7.94
A" cm’? 0.00
cm’? 7.94
Mx 1.7 kN_m 184.720
Mc kN.m 471.702
Amin cm? 5.00
()
X mm 192.443
o . N/mm* 1.440
0 N/mm? 12.000
(]
o N/mm? 96.256
(o8 N/mm? 300.000
o
T N/mm* _—
T a N/mm? _—
) C. -
Cuc .
C .

FORUMS8
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1
m 7.700
0.000 )
1( )

M kN.m 703.737

N kN 258.371

S kN -305.816

B mm 1000.0

H mm 1200.0

d mm 1050.0

A cm? 0.00

D25x 4.00=20.27

A" cm? 20.27

cm’? 20.27
Mx 1.7 kN_m 1196.353

Mc kN.m 510.957

Amin cm? 10.07
()

X mm 262.204
o N/mm* 6.498
0 N/mm? 12.000

(]
o N/mm? 292.832
(o8 N/mm? 300.000
o

T N/mm* 0.291

T a N/mm? 0.330

C. 0.993

Cot 0.886

Cu 1.073

FORUMS8
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3.9.5
@
1 0 max
5 M
o {max = RZ . W
O (Max : (N/mm?*)
M, (N_.mm)
R (mm), R = 1484.925
R= a’ + b?
a (mm), a = 1050.000
b (mm), b = 1050.000
W (mm), W = 1000.000
( ) Mo 0 «Mmax
(kN.m) (N/mm®)
1( ) 204.885 0.465
2)
A = 2 M
R* 0
As (mm®)
Mo (N.mm)
R (mm), R = 1484.925
R’= a’ + b?
a (mm), a = 1050.000
b (mm), b = 1050.000
0 (N/mm?)
M, 0 « As
( ) Ny | (vm) ()
1( ) 204 .885 300.000 919.845
@
1) O Mmax
5 M
0 {max = RZ . W
O (Max : (N/mm?)
M, (N_.mm)
R (mm), R = 1697.056
R= a’ + b?
a (mm), a = 1200.000
b (mm), b = 1200.000
W (mm), W = 1000.000

FORUMS8
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) Mo 0 «max
(kN.m) (N/mm?)
1( ) -97.909
2)
2+ M
A
R+ o sa
As (mm®)
Mo (N.mm)
R (mm), R = 1697.056
R= a’ + b’
a (mm), a = 1200.000
b (mm), b = 1200.000
0w (N/mm?)
) M, 0 « As
(kN.m) (N/mm?) (mm*)
1( ) -97.909 300.000
il
4.1
4.1.1
@
D
1
2)
Vi Xi Vi Xi
s s () Q)
1.500x 1.000x 20.000 30.000 0.750 22.500
30.000 | —— 22.500

X6 = 3 (Vi

Xi)/Z Vi = 22.500/30.000 = 0.750 (m)

FORUMS8
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4.1.2 , ’
€Y
W=y V = 24.500 x 30.000 = 735.000 (kN)
X = 0.750 (m)
4.1.3
N=3 (i Pi)
>ni-Pi-Xi
X= ——5—
2ni - Pi
Pi :
Xi :
ni :
[11  2( ) a
Xi Pi ni Pi ni Pi Xi
(m) ni (kN)
1 0.500 6 1523.311 9139.87 4569.93
> >ni Pi = 9139.865
>ni Pi Xi = 4569.933
X = 4569.933/9139.865 = 0.500 (m)
[2] 1(C )
Xi Pi ni Pi ni Pi Xi
(m) ni (kN)
1 0.500 6 2108.383 12650.30 6325.15
> Xni Pi = 12650.299
Zni Pi Xi = 6325.149
X = 6325.149/12650.299 = 0.500 (m)
4.1.4
[11  2( ) a
N; Xi M =N X
kN) (m) (kN.m)
-735.000 0.750 -551.250
9139.865 0.500 4569.933
8404.865 4018.683
420.243 200.934

FORUMS8
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[2] 1( )
N; Xi M =N X
(kN) (m (kN.m)
-735.000 0.750 -551.250
12650.299 0.500 6325.149
11915.299 5773.899
595.765 288.695
4.1.5
€))
+ m
v
T &
(cm) @/ ) (cm’)
15.0 | D22 3.871| 4.00| 15.484

[B{Z : mm]

FORUMS8
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@
- (o]
A,
M. (N.mm)
Z (%), Z. = b h/6 = 166667x 10°
O (N/mm*), 0 e = 0.230 **
O « (N/mm?), o « = 24.00
N (N), N = 0.0
A (mm?), A. = b h = 1000000.000
b (mm)
h (mm), h = 1000.000
M M.
( x 1.7
(cm®) (kN_m) (kN.m) (cm®)
1( ) 15.484 490.781 > 318.946 | 11.017
1.7 5.0
= 5.0
(©))
)
it (A8’ + (x=d ) As + (e-d) }=0.0
L DxERDD,
M
T hex b ox () - (h/2d) (=d) - (h/2-d)
s (—-—]+n + As” - n e As
2 2 3 ) X X
3 d—x
0s — [N
X
X (mm)
h (mm), h = 1000.000
b (mm), b = 1000.000
d (mm)
d- (mm)
As (mm?)
As® (mm?)
n , h=15.00
e (mm)
ocC (N/mm?)
oS (N/mm?)
M (N.mm)

FORUMS8
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" x (N/mm?) (N/mm?)
) (kN.m) (cn)
2( ) a 200.934 | 17.676 |  2.872 8.000 | 164.064 180.000

FORUMS8
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FORUMS8

~NOOOO N
A= NN

+ 17
+ 18
+ 17
+ 18
+ 17

©
—
+ o+ 4+ 4+ + ++

O OOVOOWOWOWWOOOWOWOWOWOO
A A A A A A A A A A A A A A A

++++++ o+

OOV OOO—TI—ddNM < O
ANNNN AA A A AAAAA A

RN +++++++++++++++ +

V VVV
LO LD LO LO LD LD (O (O ©O © © © M~~~ I~
ANNANANA ++++++++++++ A+ ++
~ ~~ @@@@ A A NNNAAANNNO O <
~ 7~
N\ N\ N\

~r ~r ~r ~r

SO | S, | NS | NS | AN | AN S ~oo
~ ~ ~ ~
N N A A
NN
— — NN
4 RN Nt N+
Hed A A ANANNANNN

case

—ANM< LD © M~ [ce o]

10
11
12
13
14
15
16
17
18
19
20
21
22

TANMNMITIOON0O O
—

CASE
12
13
14
15
16
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5.2

€Y

(m (m (/m) (/m)
0.000 0.250 294.000 294.000
0.250 0.250 294.000 294.000
0.500 0.700 294.000 294.000
1.200 4.000 294.000 294.000
5.200 0.200 294.000 294.000
5.400 0.600 294.000 294.000
6.000 0.600 294.000 294.000
0.000 1.000 490.000 490.000
1.000 0.500 490.000 490.000
1.500 0.750 490.000 490.000
2.250 0.750 490.000 490.000
3.000 0.367 490.000 490.000
3.367 1.183 490.000 490.000
4.550 1.183 490.000 490.000
5.733 2.167 490.000 490.000
7.900 0.200 490.000 490.000
8.100 0.400 490.000 490.000
8.500 0.600 490.000 490.000
0.000 6.000 735.000 735.000
0.600 7.400 588.000 588.000
0.600 0.750 245.000 245.000
1.350 0.650 245.000 245.000
0.500 1.000 490.000 0.000
3.000 0.500 245.000 0.000
4.900 0.500 0.000 245.000
7.400 0.500 0.000 245.000

FORUMS8
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@

[2]

m m (kN/m) (kN/m)
0.000 1.500 | 400.000 | 400.000
0.000 9.100 | -600.000 | -600.000
4.000 3.000 0.000 | 600.000
6.000 3.000 0.000 | -600.000

FORUMS8
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[4]
LD AT T T ] Hiﬂ
(m) (m) (kN/m) (kN/m)
0.000 9.100 | -200.000 -200.000
6.000 1.000 0.000 200.000
8.000 1.000 0.000 -200.000
5.3
N=gq
X = Lst—
q :
qd : )
ql : )
B : , B =20.000 (m)
Ls :
L
[t CH
g, Ls L N X
(kN/m’) (m (m (kN) )
qd 10.000 2.500 6.600 1320.000 5.800

FORUMS8
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[2]

(kN) (kN) (kN.m)
0.000 3000.000 0.000
©
(m) (m) (KN/m) (KN/m)
D 0.000 0.000 100.000 0.000
D 0.500 6.100 200.000 200.000
)
q Ls L N X
(kN/m*) (m) (W) (KN (m
qd 10.000 2.500 6.600 1320.000 5.800
ql(a) 10.000 2.500 6.600 1320.000 5.800
ql(b) 10.000 3.000 6.100 1220.000 6.050

FORUMS8
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[3]

(kN) (kN) (kN.m)
0.000 4000.000 0.000
@
m m (kN/m) (kN/m)
D 0.000 0.000 100.000 0.000
D 0.500 6.100 200.000 200.000
L 0.000 0.000 100.000 0.000
L 0.500 6.100 200.000 200.000
(b)
m m (kN/m) (kN/m)
D 0.000 0.000 100.000 0.000
D 0.500 6.100 200.000 200.000
L 0.500 6.100 200.000 200.000
q Ls L N X
(kN/m) (m (m (kN) ()
qd 10.000 2.500 6.600 1320.000 5.800

FORUMS8




- 08 -

(kN) (kN) (kN.m)
0.000 3000.000 0.000
-1500.000 0.000 0.000
m m (kN/m) (kN/m)
0.000 0.000 100.000 0.000
0.500 6.100 200.000 200.000
m m (kN/m) (kN/m)
0.000 0.000 -14.000 0.000
0.000 0.000 | -170.800 0.000
5.4
@
y w(kN/m*) 10.000
Bc (m) 20.000
hr  (m) 0.000
C (kN/m?) 0.000

FORUMS8
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)
[1]  ):
X1
!
,_ 55. 832
1)
q (kN/m?) 10.000
HL  (m) 9.000
H2  (m) 0.000
Hs () 0.000
2)
1
() HU(m) 9.000
() HL(m) 0.000
h1(m) 9.000
h2(m) 0.000
hs(m) 0.000
hr(m) 0.000
) e 0.000
() 5 10.000
« ) (kKN/m) vyt 19.000
C ) y sat 20.000
x ) Xp 9.100
() Kul 0.30847
() KI1 0.30847
() Ku2 0.30847
() KI2 0.30847
[1] () 3.085
2] () 55.832
3] () 0.000
4] ) 0.000

FORUMS8
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i
@m (m (kN/m) (kN/m)
0.000 9.000 -60.756 -1099.682
9.100 0.000 920.774 0.000
21 ):
J 3.085
X1
P
=\ 35280
X1
47. 504
1)
q (kN/m?) 10.000
HL  (m) 6.000
H2 () 3.000
Hs () 3.000

FORUMS8
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1

(@) HU(m) 9.000

) HL(m) 0.000

h1(m) 6.000

h2(m) 3.000

hs(m) 3.000

hr(m) 0.000

) 8 0.000

() 5 10.000

¢ ) (kN/m*)  y t 19.000
C ) y sat 20.000
x ) Xp 9.100
() Kul 0.30847

() KI1 0.30847

() Ku2 0.30847

() K12 0.30847

(@) 3.085

() 38.250

(@) 38.250

) 47.504

f\

m m (kN/m) (kN/m)
0.000 6.000 | -60.756 | -753.373
6.000 3.000 | -753.373 | -935.641
9.100 0.000 | 877.387 0.000

FORUMS8
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[3] (
J 6. 169
X1
,_ 58.917
1)
q (kN/m?) 20.000
HL  (m) 9.000
H2  (m) 0.000
Hs (m) 0.000
2)
1
() HU(m) 9.000
) HL(m) 0.000
h1(m) 9.000
h2(m) 0.000
hs(m) 0.000
hr(m) 0.000
) 6 0.000
() 5 10.000
« ) kN/m') vyt 19.000
C ) y sat 20.000
x ) Xp 9.100
() Kul 0.30847
() KI1 0.30847
() Ku2 0.30847
() K12 0.30847
[1] (@) 6.169
[2] () 58.917
3] (@) 0.000
4] ) 0.000

FORUMS8
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E\
m D) (kN/m) (kN/m)
0.000 9.000 -121.512 -1160.438
9.100 0.000 | 1017.190 0.000
[4]
J 6. 169
X1
4. 334
X fH1
50. 588
1
q (kKN/m*) 20.000
HL  (m) 6.000
H2  (m) 3.000
Hs () 3.000

FORUMS8
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1

(@) HU(m) 9.000

) HL(m) 0.000

h1(m) 6.000

h2(m) 3.000

hs(m) 3.000

hr(m) 0.000

) 8 0.000

() 5 10.000

¢ ) (kN/m*)  y t 19.000
C ) y sat 20.000
x ) Xp 9.100
() Kul 0.30847

() KI1 0.30847

() Ku2 0.30847

() K12 0.30847

(@) 6.169

() 41.334

(@) 41.334

) 50.588

E\

m m (kN/m) (kN/m)
0.000 6.000 | -121.512 | -814.129
6.000 3.000 | -814.129 | -996.397
9.100 0.000 | 973.803 0.000

FORUMS8
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5.5
(€D)
y w(kN/m®) 10.000
Bc (m) 20.000
hr () 0.000
C (kN/m?) 0.000
@)
[1] <e>
___J 4. 2564
X1
1)
g (KN/m*) 10.000
HL  (m) 9.000
H2  (m) 0.000
Hs (m) 0.000
2)
1
() HU(m) 9.000
) HL(m) 0.000
h1(m) 9.000
h2(m) 0.000
hs(m) 0.000
hr(m) 0.000
) 8 0.000
) o 0.000
¢ ) (kN/m*) yt 19.000
C ) y sat 20.000
x ) Xp 9.100
() Kul 0.42537
() K11 0.42537
() Ku2 0.42537
() K12 0.42537
[1] (@) 4.254
[2] () 76.992
3] () 0.000
41 ) 0.000

76.992

FORUMS8
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[\
m m (kN/m) (kN/m)
0.000 9.000 -85.074 -1539.832
[2] : <e>
J 4. 254
X1
%%%ﬁ%
73.163
D
q (kN/m?) 10.000
HL  (m) 8.000
H2  (m) 1.000
Hs () 1.000

FORUMS8
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2)
1
( HU(m) 9.000
( HL(m) 0.000
h1(m) 8.000
h2(m) 1.000
hs(m) 1.000
hr(m) 0.000
6 0.000
) 0.000
( ) yt 19.000
( ) y sat 20.000
) (m 9.100
) Kul 0.42537
) KI1 0.42537
() Ku2 0.42537
) KI2 0.42537
) 4.254
) 68.910
) 68.910
) 73.163
E\
(m (m (kN/m) (kN/m)
0.000 8.000 -85.074 -1378.193
8.000 1.000 | -1378.193 | -1463.266

FORUMS8
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38.496

[3] <L>
J 2.127
X1
1)
q (kN/m?) 10.000
HL  (m) 9.000
H2  (m) 0.000
Hs  (m) 0.000
0.500
2)
1
() HU(m) 9.000
) HL(m) 0.000
h1(m) 9.000
h2(m) 0.000
hs(m) 0.000
hr(m) 0.000
) 6 0.000
) o 0.000
« ) kN/m') vyt 19.000
C ) y sat 20.000
x ) (m Xp 9.100
() Kul 0.42537
() K11 0.42537
() Ku2 0.42537
() K12 0.42537
[1] (@) 2.127
[2] () 38.496
3] (@) 0.000
4] ) 0.000

FORUMS8
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m D) (kN/m) (kN/m)
0.000 9.000 -42.537 -769.916
[4] <L>
J 2.127
X 1
E\ %Fgglg
36. 582
1)
q (kN/mz) 10.000
HL  (m) 8.000
H2  (m) 1.000
Hs () 1.000
0.500

FORUMS8



- 110 -

2)
1
( HU(m) 9.000
( HL(m) 0.000
h1(m) 8.000
h2(m) 1.000
hs(m) 1.000
hr(m) 0.000
0 0.000
e} 0.000
( ) yt 19.000
( ) y sat 20.000
) (m 9.100
() Kul 0.42537
) KI1 0.42537
() Ku2 0.42537
() KI2 0.42537
() 2.127
¢ 34.455
() 34.455
() 36.582
I
m m (kN/m) (kN/m)
0.000 8.000 -42.537 -689.096
8.000 1.000 | -689.096 -731.633

FORUMS8
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5.6
[1]

[2]

[3]

5.7

€Y

)

-20.000
-20.000
-20.000
-20.000

)

10.000
10.000
10.000
10.000

)

-10.000
-10.000
-10.000
-10.000

FORUMS8
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5.8

[10]

(m) (m) (kN/m) (kN/m)
0.000 0.250 -41.160 -41.160
0.250 0.250 -41.160 -41.160
0.500 0.700 -41.160 -41.160
1.200 4.000 -41.160 -41.160
5.200 0.200 -41.160 -41.160
5.400 0.600 -41.160 -41.160
6.000 0.600 -41.160 -41.160
0.000 1.000 -68.600 -68.600
1.000 0.500 -68.600 -68.600
1.500 0.750 -68.600 -68.600
2.250 0.750 -68.600 -68.600
3.000 0.367 -68.600 -68.600
3.367 1.183 -68.600 -68.600
4.550 1.183 -68.600 -68.600
5.733 2.167 -68.600 -68.600
7.900 0.200 -68.600 -68.600
8.100 0.400 -68.600 -68.600
8.500 0.600 -68.600 -68.600
0.000 6.000 102.900 102.900
0.600 7.400 -82.320 -82.320
0.600 0.750 -34.300 -34.300
1.350 0.650 -34.300 -34.300
0.600 1.000 -68.600 0.000
5.500 0.500 0.000 -34.300
0.600 0.500 -34.300 0.000
7.500 0.500 0.000 -34.300
2( )b
1)
— D AT
VONT 4L SN
~ 3
o
é =
]
<t <
= S
Lo [2p]
| %

FORUMS8




2)

!

[ | : 2255
TR g
s &
&} —_
o~ D
p <
Lo
2 2
o |
1 2 3 4
m 1.500 4.900 5.650 1.117
1.500 4.900
Mmax Mmin
kN.m -4894.276 4281.650 8839.435 -5714.013
kN 2771.522 4152.200 4152.200 2771.522
kN 2160.869 6049.406 6070.656 2123.073
kN.m -244.714 214.083 441.972 -285.701
kN 138.576 207.610 207.610 138.576
kN 108.043 302.470 303.533 106.154
[11] 2+ ( )b
1)
N 0 [ e
JERNE | SO
—_ 3
= —_
k= &
= £
= Ko
b~ =)
N %)
TE

FORUMS8
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2)
.t
[ - | : 2%3; ;T

TR g

s &

&} )

O [ap]

< 3

5 =

2 ©

o |

1 2 3
m 1.500 4.900 5.650 1.117
1.500 4.900
Mmax Mmin
kN.m -6281.545 3126.972 7736.063 -7127.482
kN 2592.268 3972.946 3972.946 2592.268
kN 2229.278 6117.815 6139.065 2191.482
kN.m -314.077 156.349 386.803 -356.374
kN 129.613 198.647 198.647 129.613
kN 111.464 305.891 306.953 109.574
[13] 1( )
1)

FORUMS8
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2)

S\ S

TR
© B!
= g
&’ &’
e} Q
e} [ap)
o) —
&~ <t
[ap] [ap]
9
1 2 3 4
m 1.500 4.900 5.650 1.117
1.500 4.900
Mmax Mmin
kN.m -8554.333 12756.157 19093.426 -11569.561
kN 2328.646 4902.258 4850.808 2354.920
kN 7778.323 8647.053 8218.303 7970.327
kN.m -427.717 637.808 954.671 -578.478
kN 116.432 245.113 242 .540 117.746
kN 388.916 432.353 410.915 398.516
)
1)
.t
| r__{}\\\
PN B
= 2y
= —~
< >
w p—
() Lo
S [ap]
— <
: =
<

FORUMS8
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2)

S\ S

A S

©c -

= =

\Z} \Z}

[ N ]

(oo RN Ve

o) —

o

©w -

9

1 2 3 4
m 1.500 4.900 5.650 1.117
1.500 4.900
Mmax Mmin

kN.m -8574.918 12680.629 19114.350 -11508.377
kN 2409.505 4973.546 4922.096 2435.779
kN 7603.129 8700.656 8421.906 7718.533
kN.m -428.746 634.031 955.718 -575.419
kN 120.475 248.677 246.105 121.789
kN 380.156 435.033 421.095 385.927

FORUMS8
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5.9
5.9.1

FORUMS8




- 118 -

@
D
m 1.500 1.500 1.500
1.500 ) | ( 1.500 ) | ( 1.500 )
2+ ( )b 1( ) 1( )
M kN_m -314.077 -427.717 -428.746
N kN 0.000 0.000 0.000
S kN 111.464 388.916 380.156
B mm 1000.0 1000.0 1000.0
H mm 1000.0 1000.0 1000.0
d mm 850.0 850.0 850.0
D29x 4.00=25.70 D29x 4.00=25.70 D29x 4.00=25.70
As cm? 25.70 25.70 25.70
A" cm’ 0.00 0.00 0.00
cm? 25.70 25.70 25.70
Mx 1.7 kN.m 533.931 727.118 728.868
Mc kN.m 318.946 318.946 318.946
Amin cm? 11.02 11.02 11.02
o o o
X mm 220.337 220.337 220.337
(o N/mm? 3.672 5.000 5.012
O N/mm* 9.200 12.000 12.000
) ) )
o N/mm? 157.393 214340 214856
0 « N/mm? 207.000 300.000 300.000
) ) o
T N/mm* 0.131 0.458 0.447
T a N/mm? 0.283 0.381 0.381
Ce 1.086 1.086 1.086
Coe 1.002 1.002 1.002
Cu 1.000 1.000 1.000
o X X
S mm E— 500.000 500.000
As mm? —_— 286.500 286.500
S A mm? e 146.955 127.203
T N/mm? —_— 2.550 2.550
e ) )

FORUMS8
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2)
m 4.900 4.900
4.900 ) 4.900 )
2( )b 1( )
M kN.m 214.083 637.808
N kN 0.000 0.000
S kN 302.470 432.353
B mm 1000.0 1000.0
H mm 1000.0 1000.0
d mm 850.0 850.0
As cm’ 0.00 0.00
D38x 4.00=45.60 D38x 4.00=45.60
A" cm? 45.60 45.60
cm’? 45.60 45.60
Mx 1.7 kN_m 363.940 1084.273
Mc kN.m 318.946 318.946
Amin cm? 11.02 11.02
) o
X mm 279.297 279.297
0. N/mm? 2.024 6.030
O N/mm? 8.000 12.000
(] o
(o N/mm? 62.039 184.831
(o N/mm? 180.000 300.000
o o
T N/mm? 0.356 0.509
Ta N/mm? 0.305 0.464
C. 1.086 1.086
Cot 1.222 1.222
Cu 1.000 1.000
x x
S mm 500.000 500.000
As mm? 286.500 286.500
s A mm? 162.041 84.975
T = N/mm? 1.700 2.550

FORUMS8
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3) 3: Mmax
m 5.650
1( )
M kN.m 955.718
N kN 0.000
S kN 421.095
B mm 1000.0
H mm 1000.0
d mm 850.0
A cm? 0.00
D38x 4.00=45.60
A" cm? 45.60
cm’? 45.60
Mx 1.7 kN_m 1624.720
Mc kN.m 318.946
Amin cm? 11.02
()
X mm 279.297
o N/mm? 9.036
0 N/mm? 12.000
(]
o N/mm? 276.959
(o8 N/mm? 300.000
o
T N/mm*
T a N/mm?
) C.
Cot
Cu
s mm
A mm?
s A mm?
T 2 N/mm?

FORUMS8
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4) 4: Mmin
m 1.117
1( )
M kN.m -578.478
N kN 0.000
S kN 398.516
B mm 1000.0
H mm 1000.0
d mm 850.0
D29x% 4.00=25.70
A cm? 25.70
A" cm’? 0.00
cm’? 25.70
Mx 1.7 kN_m 983.413
Mc kN.m 318.946
Amin cm? 11.02
()
X mm 220.337
o N/mm* 6.763
0 N/mm? 12.000
(]
(o N/mm? 289.891
(o8 N/mm? 300.000
o
T N/mm* —_—
T a N/mm? —_—
) C. E—
Cu .
C, .
s mm —_—
A mm? —_—
s A mm? —
T 2 N/mm? —_—

FORUMS8
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5.9.2
@
1 0 max
5« M
o ymax = R
O .Max : (N/mm?*)
M, (N_.mm)
R (mm), R = 1909.188
R= a’ + b’
a (mm), a = 1350.000
b (mm), b = 1350.000
W (mm), W = 1000.000
( ) Mo O «max
(kN.m) (N/mm?)
1( ) 865.556 1.187
2)
2+ M,
A, =
R - O s
As (mm?)
Mo (N.mm)
R (mm), R = 1909.188
R= a’ + b’
a (mm), a = 1350.000
b (mm), b = 1350.000
0w (N/mm?)
M, 0w As
( ) Ny | (vm) ()
1( ) 865.556 300.000 3022.423

FORUMS8
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